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#include<reg5l.h>
#define LED P1
#define SW now PO

char OFF[]={'O','F','F', "#"};

char ON[]={'O','N"', "#'};

char LT[]={'L','E','F','T', "#'};
char RT[J:{VRVIVIVIlGl,lHl,lTl,l#l};
char FH[J:{VFVIVLVIlAl,lSl,lHl,l#l};

void delay (int) ;
void left (void) ;
void right (void) ;
char inst=0;
unsigned int SW=0;

//

main ()
{
LED=0xff;
EA=ES=1;
SCON=0x50; //model
TMOD | =0x20; //T1 mode2
PCON&=0x7f; //SMOD 0
TH1=TL1=0xFD; //9600bps
TR1=1;
while (1)
{
if (SW_now!=5W)
{
SW=SW _now;
LED=SW;
SBUF= (~SW) ;
}
}

}
//

void delay(int x)
{
int i,7;
for (i=0;i<x;i++)
for (1=0;1<120; 7++) ;
}

//
void left (void)
{
int 1i;
LED=0xfe;
for (i=0;1i<8;i++)
{
delay(100);
LED= (LED<<1) | 0x01;
}
delay (100);
}
//

void right (void)
{
int i;
LED=0x7f;
for (i=0;1<8;1i++)
{
delay (100);
LED= (LED>>1) | 0x80;
}
delay(100);
}
//

void Serial (void) interrupt 4

{

int i;
if (TI==1)
TI=0;

if (RI==1)

RI=0;
inst=SBUF;
switch (inst)
{
case '0':
{
for (i=0;1i<4;1i++)
{
SBUF=0FF[1];
while (TI==0) ;
TI=0;
}
LED=0xff;
break;
}
case 'l':
{
for (i=0;1i<3;i++)
{
SBUF=0N[1i];
while (TI==0);
TI=0;
}
LED=0x00;
break;
}
case '2':
{
for (i=0;i<5;i++)
{
SBUF=LT[1];
while (TI==0) ;
TI=0;
}
left();
break;
}
case '3':
{
for (1i=0;1<6;1++)
{
SBUF=RT [i];
while (TI==0) ;
TI=0;
}
right();
break;
}
case '4':
{
for (i=0;i<6;i++)
{
SBUF=FH[1];
while (TI==0) ;
TI=0;
}
for (i=0;1i<3;1i++)
{
LED=0x00;
delay (200) ;
LED=0xff;
delay (200) ;
}
break;
}
}
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intialize global (C2 = Jto = “ @ " | initialize global ([C==)to = “@"

initialize global [CE = )to |~ ‘@ "

initialize global (C2 -Jto = "B
B. {A(LECE
when Initialize

CNET global recive | - LINEL_ B
~~T global recive2 - |18
P4 Ciock1 - J TimerEnabled - Jilly, faise -
== 1 abel2 - J Visible - JR| true -
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when .BeforePicking
do call EERELeTnalEd Disconnect

=l BTlist - [ Elements - RG] M BiuetoothClient1 - M AddressesAndNames -
—
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when [ELEES AfterPicking
s BESE global btdevice - [ BTlist - J§ Selection -
set : to '+ =t global btdevice -

set . to
-
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when Click
do  call when Click
X do  cal

X

| —

when CEIRIED Click
do  call when Click

o x do  cal

X

L —

when Click -
do  call

when Click
do set :
LolE P LA -1 global bidevice - 0)
then (o] if =1l BluetoothClient1 ~ ey T=ui
address =t global btdevice -
then set . to =t global bidevice -
(=1 Notifier1 » ISl

notice

to

else  call [IEIEEE -ShowAlert

notice
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B4 procedure [ x
do | set RLENEAERS 0 | “0”
S Ciock' - | Timertnavled - RO, faise -
B  BluetoothClient1 - I IsConnected - |
then call SendText
text

while test not contains text (v =¥ global recivel ~
piece
do (o] if call EIEREGEiEd BylesAvailableToReceive 0]
=0 R global recive - R MIESITIENL =8 global recivel ~

(=:1 W BluetoothClient1 ~ JEEWEIEFE
numberOfBytes

w1l BluetoothClient1 = N CEAETE L R EW =T

length

s;et global recive1 - Fi] replace all text (+= 1 global recivel ~
segment
replacement

W |breci - I Text - WGBS =¥ global recivel -
=8l Clock1 - I TimerEnabled - G
LS.

do

call ShowAlert
notice
call _Disconnect
set : to { “
set : to { “@"
set : to { get
g /ostate - Ji Text - B [REFCEES e AR

L ERFRE R

when [MEESES -Timer
do (o] if i ~ IsConnected -

then | [af if call EMEREGEETaEd BytesAvailableToReceive 0}
then | set GIENESEZRS (o call EEGEGHWENTES ReceivelUnsigned1ByteNumber
=4 global received ~ JG] o\ Nyl = @ base 10 to binary - | @] + =1 global recive2 -

set . to | segment text | get BEENE -t
start

length
set . (OB =8 global recive? -
| —




